M. Singh

Cl Proportions

Conditions: Independence,
randomization, 10%,

Success Failure

/ME
p + z* X SE(D)
/ -
Sample SE(p) = l;_q
Proportion
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Cl Means
Conditions: randomization,

10%, Nearly normal

condition ME
v
y + ty-1 X SE(7)
/
Mean from SE(y) = %
sample data
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H Testing Proportions

Ho:p = po
Conditions same as CI

(P = po) . [Poo
sop)  SPW) = \/;

Pval=Prob(z_ )
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H Testing Means

Ho: i = o
Conditions same as Cl
for means

Y — Mo
SE(y)

SE(Y) =

ty—1 =

sample
SD

S

Vn

P val = Prob (t,_, )

t models associated with sample size
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normal
/ model
student's t

model
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Two proportion z - interval

Conditions: Independence, 10%,
independent groups, randomization
success/failure for each group.

N P11 P2
SE(p1 — p2) = \/ +

nq Ny

The confidence interval is:
(P11 — p2) £ 2° X SE(p1 — p2)
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Two sample t-interval for the
difference between means

Conditions: Independence,

independent groups, randomization,

nearly normal condition for both groups.

s, 2

nq Ny
The confidence interval is:

(1 = 72) + tgs X SE(ih = 1)

SE(y1 — yo) =

depends on Cl and sample size
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Two proportion z-test

We hypothesize no difference

Ho:pr —p2 =20

We pool the two sample proportions to get p-hat pooled
Success; + Success,

Ppooled ny + n,

n n 29 1 dfl led 15 1 dl? led
SEpooled(Pl - Pz) = \/ e L e
ni np

Then calculate,
L (71 —p2) — 0
SEpooled(f’l - ﬁ2)

and find the p-value
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Two sample t-test for the difference between means
Conditions: Independence,

independent groups, randomization, same as two sample t-interval

nearly normal condition for both groups.

Hop: 1 — o = Ap (delta naught is commonly 0)
2 2
_ ST, 52
SE(y1 — =4/— +t—
(V1 = 1) P
(71 — ¥2) — Ag

Then use t-score | =

to find p-value SE(yl o ?2)

Model: student'st --- use tedf ( ,deg freedom)
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